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CGLE- Combined Graduate Level Tier-I, 2018 Examination

[Roll No.
IRegistration No.
IName
Test Venue iON Digital Zone iDZ Tehra
Test Time 1:00 PM - 2:00 PM

Test Date 07/06/2019

Section : General Intelligence and Reasoning

Q1 37 T w1 T Sifew Gad Teaw 3@ mE e § wEte § G ven Teaw e e e
T & H9W F wae §)

(3, 18, 8)

Ans X1 (11, 45, 14)
<2 (5, 26, 9)
X (9, 35, 11)
v (7, 32, 9)

Question ID : 98958013713
Status : Answered
Chosen Option: 2

Q.2  The ratio of the present age of Mitali to that of Shabnam is 4 : 7. If the difference between the present ages of Shabnam
and Mitali after 5 years will be 13 years, then what is the sum of the present ages of Mitali and Shabnam?

Ans X 1. 60 years
X 2. 74 years
W 3. 66 years
/< 4. 64 years

Question ID : 98958013716
Status : Not Answered
Chosen Option : --

Q.3 FfefRT ax et & & 8% g=ue T 9o HEAE ¢ R v JE A B 3W A
TEAT FT =TI Faw]

Ans X1, B3
X2 39
X3 57
v 1 43

Question ID : 98958013712
Status : Answered
Chosen Option : 4
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Q4 Fr=fofE TR Tg § ¥ 99 3n-aag 50 70 & o 5 £ A o mEe § s
HE-HHE 1 T4 HiT

Ans X1 HILO
< 2 BDFA
< 3 PQRU
v 4 RSTY

Question ID : 98958013701
Status : Answered
Chosen Option : 1

Q5 & o5 AR F ST TS TEY T M TR 3T WG F T9T P

=g, T, g

Ans

v

Question ID : 98958013723
Status : Answered
Chosen Option : 1

Q.6 P, q#r FT ik R & AT S,W#ag%&ﬂ?QEﬁrqc_vﬁ'?‘.'IWWtﬂ?M,Pﬁﬁrﬂ?ﬂmmVW
oS ¥ W % e ar == §1 Q &1 V W T Hee 37

Ans «1' ﬁl_'"-
X2

X2 w8

< 4 =T=T

Question ID : 98958013708
Status : Answered
Chosen Option : 1
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Q7 F BT 770 FHT0T B T F F AT e o gt #oamad # sgar ST e

9-3+12x8+4=11

Ans X1+ 31T x
X2 _ sk +
P ST
v+ ar s

Question ID : 98958013715
Status : Answered
Chosen Option : 4

Q.8 =7 RereT # IO HT S I HE-TAE T 36 THR FART § oG TR gEdr ET-GAE e
BN TAE ¥ HET

DFIM : WURN :: GKNP : ?

Ans X 1. SOLJ
X 2 TPNL
v 2 TPMK
X 4 TROK

Question ID : 98958013699
Status : Answered
Chosen Option: 3

Q.9 wF FEER FrEre F ARG T HRT S GRAT AT IFET FeT T F T Wiew W AT FAT @S

Ans fo) VO‘

X280 8
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Vi
o

O O

o nD

Question ID : 98958013722
Status : Answered
Chosen Option : 4

Q.10 37 R TEew F TUE ST B A & T 3R gEer e Tue WA s @ A s
F@er T g A

db_cbd ba bd bac d

Ans X 1. dacdb
< 2 bdchd
v 3 adedb
< 4. adbed

Question ID : 98958013707
Status : Answered
Chosen Option: 3

Q11 ofy A & 71§ gl & 2T 3R 90T 7@ ST A T T T For WA F T Hvw)

&5

Ans
“ 8%*(
v %’g*c
" g§:8(
x 4. @
Question ID : 98958013721
Status : Answered
Chosen Option : 2
Q.12

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In
A & 7% @ H W g (?) F TUE W HIA-Hr T HT0E?

5, 12, 26, 54, ?
Ans 1. 92

v'2 110

<3112

<4 98

Question ID : 98958013710
Status : Answered
Chosen Option : 2

T 37 el = aaa Y A & S gy At ¥

.

Ans

X 3

o 2

%%@@

Question ID : 98958013720
Status : Answered
Chosen Option : 4

Q.14 faer %z s &, REGULAR % GERTRAL o =mar &1 % e smar i BROTHER & @ far
FeET?

Ans X 1. ROBSERH
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# 2 ORBUREH

X< 3. ORBEHTS
v~ ORBSREH

Question ID : 98958013705
Status : Answered
Chosen Option : 4

Q15 37 Faeaw & wOw HET SEF FE0 36 o HE F @ER §RE g s S e o
=T # ATE # wEie #

8, 15, 9)
Ans " 1.(9,12,15)
W 2(4,16,12)
X 3.(517,11)
X 4(7,13,14)

Question ID : 98958013714
Status : Not Answered
Chosen Option : --

V1 PR et # o AfFE v T A F aEtts A
1. Hr=r
2. Fers
3. 2
4. e
5. He e
6. T

Ans X 1.2, 1,
<25 4
v 4, 2,
<44 2

—nmqmn-
N L L

Question ID : 98958013700
Status : Not Answered
Chosen Option : --

Q1 57 99R 'TT F TET THAT T &, T W@ GUR © F TE T &

Ans ?(1'@ é
K2 s
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Question ID : 98958013703
Status : Answered
Chosen Option : 3

Q.18 ws & o #r 2 e At Ff g o & IR T 6 TR §F B Bew W & IO 5w

Ans

X113
X25
X3 4
V2

w FiA-Er TEa o

Question ID : 98958013719
Status : Answered
Chosen Option : 4

O iy & a et g@en F e TS I HIET T uhe BT

Ans

> C
C D

N

M

YA
S Ye

v

~ 2

((‘\ 'RV,

GVIEEVEa

< 3.

)u WO\
N ( aNa

Question ID : 98958013717
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Status : Answered
Chosen Option : 1

Q20 TR Ry ov Reed § F 360 W TH F 99 ST F AE § 50 TR Tt § S
s A R e ereg g3 aow # el E

TEAT : 9H

e X s TR
X 2. YT ST
v o ST ARET: GRHAA
< 4 TRy =0

Question ID : 98958013704
Status : Answered
Chosen Option : 2

Q.21 a7y CLEAN #1 1415123 ¥ %9 & v BLOW 1 2315122 T7 # Feag far =mam & & JOKE =t
e & & FHeae ar [om?

Ans X1 5121611
X 2 4111612
X 31011155
v 4 5111510

Question ID : 98958013706
Status : Not Answered
Chosen Option : --

A & o el F Reaw e 2

[\

Ans X1, 20
<216
X3 14
v 18

Question ID : 98958013718
Status : Not Answered
Chosen Option : --

Q.23 =7 e grw 1 9o ST B aE T e F 60 9w vafae § o g S e e
e grw # g gEme s F gatee )
12 : 42
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Ans X 1.15 : B2

v28:28
<324 :82
<416 : 53

Question ID : 98958013711
Status : Answered
Chosen Option : 3

024 2 & T Rw aw ¥ 3R 3wS 91 B |, 1 sk N Rw o #
A F FI A §O, T T WA A a2 F e gdw
AT &, 3T I AT w1 § F Rr v Fuat ¥ ia-ar By
THEIT &7 T HAeFerar g

HUA:
T FIH e gl
Fo et 7w ¥
forse:
. #1$ & T3 AT E
Il s aiforam &wT
Il F& AFT 75F &
e X Fae s 11 3 1 e
X 2 Faer TeFy || fHeerar 2
X 3. Faer forsy | reerar £
Vo oar 3 T | ar | e B

Question ID : 98958013709
Status : Answered
Chosen Option : 3

Q.25 =@ a1 el & & 7 g B TN @ UFEEAE & 3T U weg HEA ¥ HEAT weg #
= FiiET|

Ans ?(13'3|E!T
X 2 ey
V'3 s
X 4 TEATH

Question ID : 98958013702
Status : Answered
Chosen Option : 3

Section : General Awareness
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Q.1 af 1975 & 1977 & <fta " SmuTdehIet " & SR WRA & U=t i 4?2
Ans X" 1 3rofie mieh

25 2. R 2arg

/X 3. g

of 4 Rzt

Question ID : 98958014317
Status : Answered
Chosen Option : 4

Q.2 <1< FhoiA ZRIT Uehfeud faeciRar anifae 21ER il TR argere o1 ufafAfde
Fear gl

Ans X1_ﬁ¢,—vﬁ
K 2R
o 3. Feear
X a5t

Question ID : 98958014300
Status : Answered
Chosen Option: 3

Q.3 foFa & A ot /eilae gah-Re e RUlE &, 1 e @ 3= g1 aret enTet fasr af 2019-
20 & g WRA & anffer faee & gafgam &t oru= QR ST 7% & "erehs __ % o faam

Ans  of 1638
X 254
75 3.62
X 461

Question ID : 98958014323
Status : Answered
Chosen Option : 1

Q.4 ____ 3 "aufae dentys orfdfAms, 2002 & wre d a3t s=ai 3 forg qua siik sifard wrufaes
fvam i sgeear &t 7S o

Ans  of 1 86
/< 2.85
/X 3.87
X 484

Question ID : 98958014318
Status : Answered
Chosen Option : 1

Q.5 g & SWRINFNE, _____ &1 59 grd & Mafas &ra d gom o ofik ag SR o1 13 af
mmaaaaﬁaﬁmaﬁtﬂg’mézﬁl

Ans X 1 gtk
X 2.9

< 3. amesTet
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W 4 s

Question ID : 98958014314
Status : Answered
Chosen Option: 1

Q.6 3fchaR & dTE T HHTS dTet 39k G el &t o1 f&ara fae, g eref & Ay
fastar

Ans J‘I.G{gﬁﬂq
75 2. s
X 3. it
/X 4. smgeTEt

Question ID : 98958014313
Status : Answered
Chosen Option : 1

=

Q.7 =R R¥gia & Y 1906 # e QR foha= Sfiar ar?
Ans X 1. q5d SreERa

X 2. 3 et

o 3. &Rt T aré drorer

X 4. FreR

Question ID : 98958014307
Status : Answered
Chosen Option : 1
s
Q.8 World Day 2019 was observed on 23 March with the theme 'The Sun, the Earth and

the weather'.
Ans J 1. Meteorological

x 2. Astrological

X 3. Geographical

x 4. Geological
Question ID : 98958014322
Status : Answered
Chosen Option : 1
Q.9 ____ @ I v} @iet & g 1901 # wifah # ugen Ader Remr fAer am
Ans X 1 faform uteee
W 2 A e
X 3 g
/X 4. Rfemm o

Question ID : 98958014305
Status : Answered
Chosen Option : 2

Q.10 e &g, g@ia 3k IoN[S & I quafafd iR sigivife 37 & Pg wRa & 23 af ot ___
R g=Ta StTar g1
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75 1. fgie Raw
X 2. ggiefer Reag
o 3 s Raw
X 4 Ry Reaw

Question ID : 98958014321
Status : Answered
Chosen Option : 3

Q.11 WRda AT & YR el ____ 1 T 2018 &l hid # 9 Tereiw 31 siiee gk 9 &

Ans

g nfafla Mes e [ (Sfisfiem) # v a7 aret g giRrar a1

X 1.3 aeEe

/< 2. v@u g

o 3. siftrems ft

75 4w A el

Question ID : 98958014316
Status : Not Answered
Chosen Option : --

Q.12 ufrar Y e ot T w1 A 21

Ans

o 1 ae TS
X 2. o @
75 3. aRRE T
X 4 AT

Question ID : 98958014310
Status : Answered
Chosen Option: 1

Q.13 MR h @ 7=t 7Y spi=-t 22

Ans

Rt
X 2. 7m

75 3. e
v 4 s

Question ID : 98958014308
Status : Answered
Chosen Option : 2

Q.14 Which of the following was the most important characteristic of India's trade throughout the

Ans

colonial period?

x 1. Import deficiency
X 2. Export deficiency
x 3. Import surplus

J 4. Export surplus

Question ID : 98958014301
Status : Answered
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l Chosen Option : 4

Q.15 TRT & AT Tt & fFR S1uft ueft grarst vg & forg armee o1 FRafor fFaa @eamar ar?
Ans  of 1 el

75 2. rher

/X 3. stk

/X 4. s

Question ID : 98958014312
Status : Answered
Chosen Option: 1

Q.16 faforos g ga ifaes Tama=a (Physical chemist) @ =gl ____ awa &Y @iot &Y iR 39T
ARt R

Ans x1®ﬁmq
o 2. ¥
/< 3. aRfeew
/X 4 st

Question ID : 98958014306

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.17 fraeis & gafdicht d smaifSra 38 & St qadharstt gafde & Wra & i wiea uge fRstar 9
Frafaf@ad @ oa a9 @ g T8 &2

Ans X 1. gfta gtmam
/X 2. 7 ER
75 3. gfe Rara
W 2 RAvemr

Question ID : 98958014319
Status : Not Answered
Chosen Option : --

Q.18 R ot 3 378 Aaer ofR oo uh, A% g & Ty & weifa wieit & forg & 1903 &

wifahr & ure Tee qrER wr= Rt am

Ans  off 1 AFetufifar

X 2. v

75 3. adur s

X 4 gl

Question ID : 98958014304
Status : Answered
Chosen Option : 1

Q19 A____ occurs when a government's total expenditures exceed the revenue that it

generates, excluding money from borrowings.
Ans X" 1. Budgetary Deficit

x 2. Revenue Deficit
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f 3. Fiscal Deficit

x 4. Current Account Deficit

Question ID : 98958014302
Status : Answered
Chosen Option : 2

Q.20 ¥ 1897 # stz ot it v Y of?

Ans

o 1.3 it

X 2. & gufeaa
X 3. P e

< 4. aasrR g

Question ID : 98958014303
Status : Answered
Chosen Option : 1

S

Q.21 6 JATE, 2018 Tl MR & Ieaad ARTTd § Faige g Sifed____ I agia gRa sifrerzor &1

Ans

T sreaer fges fovar mar g1

25 1. o s
75 2. wgda Rig

X 3. E e A
o 2. smesf AR

Question ID : 98958014315
Status : Answered
Chosen Option : 2

Q.22 ____ 7 fheis & gwfieh & smaifoia 384 Shieft gercharsit gafde # o1 ugeh Sftarl

Ans

o 1. sigE e
75 2. 9= R
/X 3. gfa gimam
X 4 T gER

Question ID : 98958014320
Status : Not Answered
Chosen Option : --

Q.23 wF-T T fAhaw 22T & geps ot 82

Ans

25 1. s A&
W 2 &F=E
/X 3. diemad
X 4T

Question ID : 98958014309
Status : Marked For Review
Chosen Option : 4

Q.24 et o1 et foher SR ST AfTE ___ & et Y argehet Y fazmer suwfsmi &1

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In
Ans X1 afRTere

JZ.QHBGET
/X 3. stk
75 4. arpeR

Question ID : 98958014311
Status : Answered
Chosen Option : 2

Q.25 gy 1799 # AgRTeT Hars va ¥ 3 fha Rl ®IRaE &1 fAwafor w=war ar?
Ans X1 AR Ao

X 2. 35 o

X 3. AR de

V 4z

Question ID : 98958014299
Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude

Q.1 afermr & faffes vo #f Fnf ¥ scea # (g #) g2 T ¥

R
T 2010 | 2011 2012 2013 2014
A 1 81 57 8
B a0 56 52 63 61
c 54 58 as 60 56
D a2 53 a 6 les |
E 68 2 61 64 72

I C UFR B FAT F IS ¥ FEOE &0 F Ied FRG (TE-TE) IR Seiter S &, & 2012 &
FRT & IcAET F S AT Tsuws (TeeT) F HET FI0T B

Ans

’ s [
513"
3
<2 80°
K3 72°
v 4 B0°
Question ID : 98958013321
Status : Not Answered
Chosen Option : --
Q.2
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arferer & 2ffew 9o T ST F IcEA HT (FART H) AT T B

42 53

m o o [o [»
2 & 12 & |3
CHE T -

68 87 81

2011 # ST A, 2012 & TE9 C 3R 2R E & &1 & Fo 3096, 2010 & 2014 % g0 239 B
FA & FA 3 F rae g §?

Ans X 1. 60.4%
v'2 62.5%
X 3 54.7%
X 4 58.8%

Question ID : 98958013322
Status : Not Answered
Chosen Option : --

Q.3 AABC #, <A wF ®REUT §1 AC 3T BC #r wer€ FAT: 6 cm AT 10 cm ¥ fg D, AB W 56 WX
% 7 BD = 4 cm & CD & =& 2 &7

Ans X1 3y13em
< 2 24/10 cm
/3 3410 em
v 4 2413 em

Question ID : 98958013315
Status : Answered
Chosen Option : 4

@ gfrsing = m 0°< 8 < 90°, @r secd + tanf T HT &

Ans XT Ja'+b*+b

a

x5 JEEra

2b

x 3 v a’+b?+b

2a

J 4. va‘+b*+a

b

Question ID : 98958013319
Status : Answered
Chosen Option : 4

Q.5 fy=ar 10 em 3K &g O o1 v e & PQ AR PR & A= e §, e & 9929 & @erE 12 om
¥ Sfer QR & wEE (om #) FT ¥
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Ans X 1.20.4

X 2184
V'3 192
K 4186

Question ID : 98958013314
Status : Not Answered
Chosen Option : --

Q.6 <z Frvw afft 3uR F 7 AN TEFT 735,280 F & TR e Fhedt F s frar mm afy ==
#r 2T 5% = o, ik == Afw TAeE o, &« WA

Ans X1 65,400
X 2. 64,400
X 3. 64,800
v+ 65,600

Question ID : 98958013306
Status : Not Answered
Chosen Option : --

Q7 gfr 92 +4b*+ 2 +21=4(3a+b—20), aF (Ya+4b=c) F AT &
Ans o112

<22

<316

K46

Question ID : 98958013311
Status : Not Answered
Chosen Option : --

Q8 g s x FHET A T BT Fgm F ATES, 50 m, 70 m 3T 80 m =T I T e
el #e F 95 & TET gl x F A fhEe Feean 7

Ans  of 1. 632
X2 624
X 3 655
X 4618

Question ID : 98958013309
Status : Not Answered
Chosen Option : --

Q.9 AABC &, AD, /A &I & SIET S # sear § =t BC & D X f&ear &1 s BC = a, AC = b 3k
AB=cg @ DC = I
Ans ac

r BN

atc

2

b+c
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;{- be
> a+c

" atb

Question ID : 98958013316
Status : Answered
Chosen Option : 2

Q.10 wF =feT 1 der 20 fade & T 1 omr & fawda feam & 4 Bl &1 =f 9T T wEAT €, N Few
24 Bde & 39 TUE W IV 3T S g1 & 39 R 9= § 13 G J9 & v fBaer mE
(sret &) eEem?

Ans 1

}'(1.2E

X2.3%
v 2
X4 3

Question ID : 98958013308
Status : Answered
Chosen Option: 3

an 7ix(31+ siamal)+[11-(C+3-13)] =52 —5 - 5x5F5 259 7 &:

X1

10

Ans

1

K2 =

10
1

?{3.E
1
v e

Question ID : 98958013300
Status : Not Answered
Chosen Option : --

Q12 ABCD v s t e s AB v s T amw F, AR T @ Mg A, B, C 3 D ¥ e ¥
ofE 2ADC = 130° g, & £BAC & 19 &

Ans X 1. BQ°
X 2 35°
X 3. 45°
v 4 40°

Question ID : 98958013313
Status : Answered
Chosen Option : 4

Q.13 2 awgsit & Fowei 4 : 5 & Ia # )| A T W AAT F % F I G T IR g A Fwa A
3o%£raafr§é%,a’m3ﬁrsﬁaéaﬁmﬁm:7éamaq1?rﬁaﬁ=mxa:rm%~.
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Ans J 1. 25

<2225
<3245
<420

Question ID : 98958013305
Status : Answered
Chosen Option : 1

Q14 o =fda & 22,500 # 25 FEC &7 AR 3 10% F @ g1 20% F oA FAW F B 37 2,400
# forae axgy S=e Afgw?

Ans X116
v 218
X3 15
X 4 20

Question ID : 98958013304
Status : Answered
Chosen Option : 2

Q.15 e & Rfes =T $ S F 5o9ET F (FA ) g T

b
T N0 lzonn 2012 l2013  fao14 |
A 6 L) 61 57 6
B 0 36 52 68 64
< 54 35 s 60 s |
D az 53 a4 s6 65
E 68 67 61 64 2

2014 & wefr v A FH F AET e, 2013 F @5 B T 2010 F TET D wHR B IR F FA
ScUe ¥ SRR fRde ufaed #8 {7 (U SYEeT TUE oF §E)

Ans X1 44.4%
X 2 44.9%
X 3 43.2%
v i 41.8%

Question ID : 98958013323
Status : Not Answered
Chosen Option : --

Q.16 =zfy 10-37Fr7 vaF HEar 897359:17+2, 72 ¥ faemew &, & v ¥ TsE ifUwaw A & Bw, Gx—y) @
A4, T

Ans XL

<
@
g -] W

Question ID : 98958013299
Status : Not Answered
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Chosen Option : --

Q.17 v Fam % A 3 B It & o i o B 110 §| Yo A F o 7 FE=0 AR B H e
# 10 305 ¥ vF Tr F A TRW F o # siwd R & geen # B ¥ orE a simd e 20%

wftrr §1 ofE Fem F |eft ot # sitma TR 72 7, O A # o @ silea =R o e

Ans X 1. 63
X2 70
X 3 68
v 66

Question ID : 98958013301
Status : Not Answered
Chosen Option : --

Q.18 v gwweR FRlr A F RS TET T 18% TE & F AE W92 F =T ¥ 3N 3T I T

& 2, & 3 TS HqEE 9T 20% H A ST TG F S qod F4T ¥?

Ans X1 F600
v 2 3500
< 3 7640
< 4 540
Question ID : 98958013302
Status : Answered
Chosen Option : 2
Q.19 tanf—secB+1 1
(73“ = )secﬂ =-,dark
tanf +secB—1 k

Ans X 1.1 — cosB
X< 21— sin®
#< 3 1+ cos@
v 4 1+ sin®

Question ID : 98958013318
Status : Answered
Chosen Option : 1

Q.20 e F R T91 7 F1 & 3096 F (SR #) g9 ma E

af
=T N aoie  Jaon laerz  faons | 2014
A ] ) 81 57 s
B 0 56 52 8 &4
c ] a5 50 s6
D ) 53 4t 56 85
E 68 67 61 64 72

2011 7 259 B a7 2013 ¥ TR E & & Fo 3c0ea # 2014 HeRT C T 2012 F a9 D &

T IAET F T &
Ans X1.5:6
<216 : 11
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X38:9
vi6:5

Question ID : 98958013320
Status : Not Answered
Chosen Option : --

Q.21 v ftga =\ @ F F e, A 3 B sl vus ffw Fw o § s B wEe W a9 aw

FAT §1 A et 48 faelt F T U T WA ¢ IR ag FA 11 S F A e @, A B e
3 T F 4 T F A B F 9 W meT §

e X130 Rt A
X224 e F
X33 fEaF
V271 RATH

Question ID : 98958013307
Status : Not Answered
Chosen Option : --

Q22 A BH20% FTE FH C, DE20% 3ew & o D, AT 25% 77 ¢, o =R da w7
o wEr R

Ais 1. C=0728B
X2B=0675C
X3 C=0675B
X+B=072C

Question ID : 98958013303
Status : Not Answered
Chosen Option : --

02 Ffr x?-3x—1=0"ar P+ 8x— D3 +x ) F AT
Ans XT

L) — LW 0o

Question ID : 98958013312
Status : Not Answered
Chosen Option : --

Q.24 gfr (135v5x® — 2v2y°) + (3v5x —+/2y) = Ax? + By? + /10 Cxy, & (A+B—9C) & A &
Ans X118

<212

<310
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Question ID : 98958013310
Status : Not Answered
Chosen Option : --

Q25 Ff¥ cos?6—3cosd + 2 = sin?6,0°< 6 < 90°, & 2cosecd + 4cotd FT HTT &
e XK1 243
X2 M3

4
< 3 443

gy3
v & =

Question ID : 98958013317
Status : Not Answered
Chosen Option : --

Section : English Comprehension

Q.1 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

We can't live without water, will we?
Ans o 1 canwe

x 2. No improvement
x 3. won't we

X 4. do we

Question ID : 98958012594
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate meaning of the given idiom.

On tentherhooks
Ans X" 1. unhappy

x 2. angry
#< 3.happy
( 4. anxious

Question ID : 98958012608
Status : Answered
Chosen Option : 4

Q.3 Select the antonym of the given word.

SWERVE
Ans ( 1. straighten

x 2. deviate
x 3. lurch
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x 4. droop

Question ID : 98958012607
Status : Not Answered
Chosen Option : --

Q.4 Select the word which means the same as the group of words given.

a large, deep pot used both in the oven and as a serving vessel.
Ans J 1. casserole

x 2. cauldron

/X 3. skillet

x 4. sauce-pan

Question ID : 98958012611
Status : Not Answered
Chosen Option : --

Q.5 Select the wrongly spelt word.
Ans “ 1. noticable

x 2. negligible
x 3. neighbouring
x 4. nuisance

Question ID : 98958012613
Status : Answered
Chosen Option : 4

Q.6 Select the correct active form of the given sentence.

The chairs were being arranged in the examination hall by the staff.

Ans x 1. The chairs were arranging the staff in the.examination hall.

x 2. The staff has been arranging the chairs in the examination hall.

x 3. The staff has arranged the chairs in the examination hall.

J 4. The staff was arrangingthe/Chairs in the examination hall.

Question ID : 98958012593
Status : Answered
Chosen Option : 4

Q.7 Select the antonym of the given word.

SOBER
Ans X" 1. nervous

x 2. serious
J 3. agitated
X 4. calm

Question ID : 98958012606
Status : Answered
Chosen Option : 3
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Q.8 Select the synonym of the given word.

RAMPANT
Ans ( 1. excessive

x 2. rare
x 3. gentle
x 4. limited

Question ID : 98958012605
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate word to fill in the blank.

The company management is of the opinion that not wearing a suit and tie at the workplace
could create a bad on clients.

Ans  of 1. impression
X 2. response

x 3. outlook
X 4. notion

Question ID : 98958012615
Status : Answered
Chosen Option : 1

Q.10 Select the correct passive form of the given sentence.

Please take the guest to his room on the 6th floor.

Ans x 1. Let the guest be taking to his room on the 6th floor.
x 2. You must take the guest to his room on the 6th floor.
( 3. You are requested to take the gugest to hisikoom on the 6th floor.

x 4. The guest should be took to his room on the 6th floor.

Question ID : 98958012592
Status : Answered
Chosen Option : 3

=
Q.11 Select the most appropriate meaning of the given idiom.

Lend an ear

Ans x 1. to force someone to listen
x 2. to not make trouble
x 3. to not tell someone something

J 4. to pay attention to

Question ID : 98958012609
Status : Answered
Chosen Option : 4

Q.12 Select the wrongly spelt word.
Ans X 1 prittle
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x 2. brisk
J 3. bristel
75 4. bridie

Question ID : 98958012612
Status : Answered
Chosen Option: 3

Q.13

Ans

Select the synonym of the given word.

EXEMPT

x 1. prevent
75 2. reduce
X 3. hinder

o 4. exclude

Question ID : 98958012604
Status : Answered
Chosen Option : 4

Q.14 Given below are four jumbled sentences. Select the option that gives their correct order.

Ans

A. It has been a leading producer of both industrial and agricultural goods.

B. The United States of America holds a dominant position in the world because of its high
economic development.

C. Because of its enormous output, the United States has a major share in‘world trade.

D. It is also a leader in the development and application of innovative technology.

/< 1.ABCD
o 2.BACD
/< 3.BCAD
75 4.DABC

Question ID : 98958012602
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

During the reign of Aurangzeb, the last of the Mughals, there (1) revolts against the
empire. (2) were the revolts of the Marathas, the Sikhs, the Jats and (3) others.
After the death of Aurangzeb, the Mughal empire began to (4) fairly fast. The country
soon (5) into smaller territories many of which became more or less independent.

SubQuestion No : 15

Q.15 Select the most appropriate option for blank No. 1.

Ans

x 1. have been

x 2. was
x 3. are
J4. were

Question ID : 98958012597
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

During the reign of Aurangzeb, the last of the Mughals, there (1) revolts against the
empire. (2) were the revolts of the Marathas, the Sikhs, the Jats and (3) others.
After the death of Aurangzeb, the Mughal empire began to (4) fairly fast. The country
soon (5) into smaller territories many of which became more or less independent.

SubQuestion No : 16
Q.16 Select the most appropriate option for blank No. 2.

Ans ( 1. These

X 2. This
75 3. That
P N

Question ID : 98958012598
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

During the reign of Aurangzeb, the last of the Mughals, there (1) revolts against the
empire. (2) were the revolts of the Marathas, the Sikhs, the Jats'and (3) others.
After the death of Aurangzeb, the Mughal empire began to (4) fairly fast. The country
soon (5) into smaller territories many of which became more or less independent.

SubQuestion No : 17
Q.17 Select the most appropriate option for blank No. 3.

Ans  of 1 many
/X 2. each
X 3. every
X 4. more

Question ID : 98958012599
Status : Answered
Chosen Option: 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

During the reign of Aurangzeb, the last of the Mughals, there (1) revolts against the
empire. (2) were the revolts of the Marathas, the Sikhs, the Jats and (3) others.
After the death of Aurangzeb, the Mughal empire began to (4) fairly fast. The country
soon (5) into smaller territories many of which became more or less independent.

SubQuestion No : 18
Q.18 Select the most appropriate option for blank No. 4.

Ans x 1. disperse

x 2. disrupt
x 3. disturb

« 4. disintegrate

Question ID : 98958012600

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

During the reign of Aurangzeb, the last of the Mughals, there (1) revolts against the
empire. (2) were the revolts of the Marathas, the Sikhs, the Jats and (3) others.
After the death of Aurangzeb, the Mughal empire began to (4) fairly fast. The country
soon (5) into smaller territories many of which became more or less independent.

SubQuestion No : 19
Q.19 Select the most appropriate option for blank No. 5.

Ans X" 1. broke off

J 2. broke up
X 3. broke in

X 4. broke out

Question ID : 98958012601
Status :"Answered
Chosen Option: 1

Q.20 Select the most appropriate word to fill in the blank.

India is the second largest of cotton in the world.

Ans X" 1 creator

( 2. producer
x 3. grower

X 4. manufacturer

Question ID : 98958012614
Status : Answered
Chosen Option : 2

Q.21 In the sentence identify the segment which contains the grammatical error.

The Doon Valley with all its lights look beautiful at night from the top of the mountain.
Ans ( 1. look beautiful

x 2. from the top
X 3. with all its lights

x 4. at night

Question ID : 98958012591
Status : Answered
Chosen Option : 2

Q.22 Select the word which means the same as the group of words given.

Flowers or leaves woven together in a circle for placing on a coffin or a grave
Ans " 1. bunch

J 2. wreath

X 3. bouquet

x 4. garland
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Question ID : 98958012610
Status : Answered
Chosen Option : 4

Q.23 In the sentence identify the segment which contains the grammatical error.

The Japanese artist Yoh Nagao was busy splashing the wall from colours.
Ans X 1. splashing the wall

x 2. The Japanese artist

x 3. was busy
J 4. from colours

Question ID : 98958012590
Status : Answered
Chosen Option : 1

Q.24 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

His school was 7 km away from his house. | wondered how he covered so long distance
daily on foot.

Ans X" 1. Noimprovement
J 2. such a long distance
x 3. such long distance

X 4. so long the distance

Question ID : 98958012595
Status : Answered
Chosen Option : 2

Q.25 Given below are four jumbled sentences. Select the option that gives their correct order.

A. Since then Boeing has received over 5,000 orders for the aircraft and has delivered 371
to date.

B. The Max first started flying commercially in 2017.

C. Boeing had huge hopes for its 737 Max aircraft and viewed it as a key part of its future.
D. However, the company's market value has plummeted by nearly $26 billion since the
crash in Ethiopia.

Ans  of 1 CBAD

/5 2.DCBA
75 3.ABCD
/5 4.BCDA

Question ID : 98958012603
Status : Answered
Chosen Option : 1
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